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QUESTION 1

Which Host Profile Subprofile configuration is used to configure firewall settings for ESXi hosts?
A. Advanced Configuration Settings

B. General System Settings

C. Security

D. Networking

Correct Answer: C

QUESTION 2

vSphere 6.5 introduced MAC learning capabilities for VMware\\'s virtual switches. What three benefits will it
provide? (Choose three.)

A. Reduced memory consumption

B. Increased network throughput.

C. Prevent packet flooding inside the vSwitch

D. Reduced consumption of extra CPU cycles.

Correct Answer: ACD

QUESTION 3

A vSphere Administrator has VM Component Protection (VMCP) enabled, but the VM was not restarted when one of the
VMFS datastores experienced an All Paths Down (APD) failure.

What two scenarios would explain why the virtual machine was not restarted? (Choose two.)
A. Insufficient Capacity is available on the failover ESXi hosts.

B. VM Monitoring is required in order for VMCP to failover during an APD event.

C. VMware Tools is not installed on the guest operating system for the VM.

D. The APD failure was corrected before the VM could be restarted.

Correct Answer: AD

QUESTION 4
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Virtual Volumes supports which three VMware features? (Choose three.)
A. Instant Clones

B. Linked Clones

C. Distributed Resource Scheduler

D. Storage Distributed Resource Scheduler

E. vMotion

Correct Answer: BCE

QUESTION 5

How can a vSphere administrator ensure that a set of virtual machines run on different hosts in a DRS cluster?
A. Add the VMs to a VApp.

B. Use a VM-Host affinity rule.

C. Place the VMs in different folders.

D. Use a VM-VM affinity rule.

Correct Answer: D
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